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Input Oriented and Output Oriented
Input Weight: pr=v"/o (2.1)
Output Weight: qr=u"/e (2.2)
Lambda: AM=p/n (2.3)
Input Score: 0 =1/n" (2.4)
OutputScore:  P" Xo=V"X, /0" (25)
=n">1
Figurel: Results
3. Slack Slack
CCR-I Slack CCR-O Slack
CCR-I Slack(+) CCR-I CCR-O
Slack(+) CCR-I Slack(-) CCR-I
CCR-O Slack(-)
CCR-I Slack
Excess Slack: S~ =X.0—XA
ShortageSlack: S'=YA—-Y, (3.1)
CCR-OSlack
Excess Slack: t~ =X, —XH
ShortageSlack: t' =YU—-7nY, (3.2)
Input Oriented and Output Oriented
ExcessSlack: t~=5/6 (3.3)
ShortageSlack: t~ =S~ /49 (3.4)

Figure2: Slack
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4, 2 2 Table2: Score
2 2 D EA " Score (2 Input /2 Output)
BCC-I BCC-O CCR-I CCR-0
DEA-Solver A 1.0000000000 0.5000000000 0.5000000000 0.5000000000
1 B 1.0000000000 1.0000000000 1.0000000000 1,0000000000
c 1.0000000000 1.0000000000 1.0000000000 1,0000000000
2 D 1.0000000000 0.5000000000 0.5000000000 0.5000000000
E 1.0000000000 1.0000000000 0.9523809524 0.9523809524
2 (2.4) CCR-I CCR-O
F 1.0000000000 1.0000000000 0.9166666667 0.9166666667
2 G 0.4444444444 0.4687500000 0.3703703704 0.3703703704
H 1.0000000000 1.0000000000 0.7000000000 0.7000000000
(2.4) CCR-I CCR-O | 0.9150000000 0.9306122449 0.7666666667 0.7666666667
(2.4) J 0.7142857143 0.8181818182 0.5454545455 0.5454545455
K 1.0000000000 1.0000000000 0.7986111111 0.7986111111
2 L 0.3076923077 0.2000000000 0.1474358974 0.1474358974
BCC-I BCC-O
Y 0.1904761905 0.4545454545 0.1587301587 0.1587301587
z 0.2093023256 0.6363636364 0.2028985507 0.2028985507
CCR Model  Slack
Table3: Excess Slack
3 (3.3),(3.4) CCR-I Slack(+)
CCR-IExcess Slack /Score =CCR-O Excess Slack
CCR-I CCR-O Slack(+) M | CRiScku/Scor | CCROSkcki | CRASiacke/Scor | CCR-OSIackz
A 0 0 1 1
CCR-l Slack(-) CCR-I CCR-O
B 0 0 0 0
Slack(-) c 0 0 0 0
D 1 1 0 0
3.4 CCR-I Slack  CCR-I E 0 0 26000000 2.6000000
CCR-O Slack F 0 0 9.0000000 9.0000000
G 0 0 6.5000000 6.5000000
(3.3).(3.4) H 0 0 0 0
I 0 0 3.9565217 3.9565217
J 0 0 4.5000000 4.5000000
K 0 0 2.3478261 2.3478261
Tablel: Data L 0 0 3.0434783 3.0434783
M 0 0 1.5000000 15000000
Data(2 Input /2 Output)
M Input 1 Input 2 Output 1 Output 2 - o o 75000000 75000000
A 4 s ! 3 z 0 0 8.5000000 8.5000000
B 4 2 3 6
c 5 1 6 4
5 . . ) p Table4: Shortage Slack
H 7 a4 8 1 CCR-IShortage Slack / Score=CCR-O Shortage Slack
E 8 13 4 11 " CR-ISlack1/Scor CCR-OSlackl CR-ISlack2/Scor CCR-OSlack2
G 9 11 1 5 A 1 1 0 0
H 9 3 6 7 B 0 0 0 0
I 10 7 8 8 c 0 0 0 0
3 11 10 3 9 D 2.0000000 2,0000000 0 0
K 12 6 10 10 E 0 0 4.5500000 4.5500000
L 13 7 2 5 F 1.6363636 1.6363636 0 0
M 13 8 5 11 G 4.0500000 4.0500000 0 0
N 14 6 3 5 H 0.4285714 0.4285714 0 0
o 14 5 7 3 ! 0 0 0 0
P 15 8 10 6 J 2.7500000 2.7500000 0 0
Q 16 7 1 4 K 0 0 0 0
R 17 14 5 7 L 0 0 0 0
s 17 13 s 4 M 0.8863636 0.8863636 0 0
Y 21 18 2 5 Y 3.1500000 3.1500000 0 0
2 23 20 1 7 z 12.321429 12.321429 0 0
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1
CCR Model BCC Model
DEA-Solver
DMUE
X1, X2, X3, Y1, Y2, Ys
3
CCR-I 0.4166667 CCR-O
1/2.4 = 0.4166667
BCC-I 0.5416667 BCC-O
1/2.1 = 0.4761905
DEA-Solver
DMUE
CCR-I X3 /X1 BCC-I X2 /X1
CCR-O ys/y1 BCC-O
Y2 /Y1
BCC Model
CCR Model
3 BCC-I 0.5416667
CCR-I 0.4166667
CCR-O 2.4
BCC-O 2.1
CCR-O 0.4166667 BCC-O
0.4761905

Graphl: Inputand Output
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Output Data
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Input Data
DMUFr Data
InputData: X, =8
BCC Frontier: X, =4.333333
CCR Frontier: X, =3.333333
Output Data: Y.=4
BCC Frontier: Y.=8.4
CCRFrontier: Y. =9.6
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CCR Score

Input Oriented : X, / X, =0.4166667
Output Oriented : Y /yl =24

BCC Score

Input Oriented : X /X1 =0.5416667
Output Oriented : Y. /y1 =21

Figure3: Score
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Graph3: Output Criented Score
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